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General Instructions to Candidates :
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering,

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 8 questions from 1 to 10. Each carries 1 score. 8x1=8)

Apex bank of India is :
(a) SBI (b) RBI
(¢) Indian Bank (d) HDFC

The difference between Total Revenue and Total Cost is :
(a) Profit (b) Output

(¢) Deficit (d) Interest

Which of the following is an example for intermediate goods ?
(a) Bread (b) Television

(c) Wheat (d) Car

Which of the following is related to Macro Economics ?
(a) National Income (b) Utility

(c) Law of Demand (d) Price Effect

‘C= C +cY’, inthis equation C indicates :
(a) Autonomous Investment (b) Marginal Propensity to Save

(¢) Autonomous Consumption (d) Marginal Propensity to Consume

Wants Satistying Capacity of a Commodity is known as :
(a) Production (b) Utility

(¢) Consumption (d) Demand
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10.

11.

12.

13.

14.

15.

The price of one currency in terms of another is :
(a) Exchange rate (b) Traderate

(¢) Interestrate (d) Balance of trade
Output per unit of variable input is :
(a) Marginal Product (b) Total Product

(c) Average Product (d) Marginal Revenue

The difference between government’s revenue expenditure and revenue receipts is :

(a) Revenue Deficit (b) Primary Deficit

(c) Fiscal Deficit (d) Fiscal Policy

TFC + TVC =

(a) MC (b) AC

(c) AVC (d TC

Answer any 4 questions from 11 to 15. Each carries 2 scores. 4x2=8)

What do you mean by Public Good ? Give an example.

List any two functions of Money.

What is substitute goods ? Give two examples.

Classify the following into stocks and flows :

Capital, Income, Output, Wealth

Distinguish between Excess Demand and Excess Supply.
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Answer any 4 questions from 16 to 20. Each carries 3 scores. 4x3=12)

16. Complete the following chart, showing the circular flow of National Income.

A Spending

Firms Households

17. Write a short note on ‘Returns to Scale’.

18. Differentiate between Balance of Payment and Balance of Trade.

19. List out the properties of Indifference curve.

20. A firm earns a revenue of ¥ 100 when the market price of a good is ¥ 10. The market
price increases to I 20 and the firm now earns a revenue of ¥ 150. Calculate price

elasticity of supply.

Answer any 4 questions from 21 to 25. Each carries 4 scores. (4 x4=16)

21. Explain any two central problems of an economy in relation to allocation of resources.

22.  Write a short note on Flexible Exchange rate system with the help of diagram.

23.  Explain Great Depression in 1930’s.

24.  Compare Consumption goods and Capital goods with examples.

25. Explain price ceiling with the help of diagram.
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Answer any 4 questions from 26 to 30. Each carries S scores.

(4 x 5=20)

26. A consumer wants to consume two goods ‘X’ and ‘Y’ with his income of ¥ 20. The
price of two goods are ¥ 4 and T 5 respectively.

(a) Write the equation of budget line.

(b) Calculate horizontal intercept and vertical intercept.
(c) Draw the budget line.

27. Complete the following flow chart :

Government Budget

Revenue Budget

Capital Receipts

Non-Tax Revenue

28. Explain Consumer’s optimum with the help of diagram. (Consumer’s equilibrium).

29. Explain the components of Aggregate Demand in the two Sector Economy and draw
Aggregate Demand Curve.

30. (a) Write any three features of Perfect Competition.

(b) On the basis of the following table calculate AR and MR :

S-2235

Output Sold (Q) | TR

AR

MR

0
1

2
3
4
5

0
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Answer any 2 questions from 31 to 33. Each carries 8 scores.

31. Explain any two methods for calculating National Income.

32. Explain the monetary policy instruments of RBIL.

(2 x8=16)

33. (a) On the basis of the following table calculate TFC, TVC, AVC, SAC and SMC.

(b) Draw AVC, SAC and SMC.
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Output (Q) | TC | TFC | TVC | SAC | AVC | SMC
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1 30
2 45
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